IV' CAREERINDIA

SET -4
; FI 4.
Series : GBM/C Code No. 68
Je 5 wiieneff S 1 IH-YETH 5 TE@-T3
) T 37w forg |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

®  FHUAT A HL T [ M RA-TAHAGATS 87 |

®  TH-UH 1 gife 81 3hl 3R ST T Rl TR ol BT IT- YRl < JE-T W ford |
® SHUAT e B o o 3T IH-TAH A4 THAE |

®  FHUAT T I I TG Y& H A U, Te T I 7w ford |

® 3 TRH-T4 I UG % TTq 15 ToTe o1 9w fean T § | oA -9t o Tt qaita # 10.15 &1
TR STQIT 110,15 91 &/ 10.30 9191 T BT halel Y9 -U3 <l T 3TN 39 319 6 G o
ITH-YfEThT T hIg I L fore |

e Please check that this question paper contains 8 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 4 questions.
¢ Please write down the Serial Number of the question before attempting it.

® 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :
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Attempt all the questions.

Use both sides of the drawing sheet, if necessary.

All dimensions are in millimetres.

Missing and mismatching dimensions, if any, may be suitably assumed.
Follow the SP : 46-2003 revised codes (with first angle method of projection).
In no view of question 2, hidden edges or lines are required.

In question 4, hidden edges or lines are to be shown in views without section.

(viii) Give your answers according to questions.

frfefaa sgfassfers Tea1 & ST G | a8t foehed 3t gign wfie W ameifaa Hifs |

¢

(ii)

(iii)

(iv)

)

5x1=5
Teh WSS o1 AHTA HI01 Fehe BraT & 7
(31) 30° () 60°
(") 45° (@ 15°
Tl SRR ATHE <l TS o 7T B & SIS I ITIM BAT & ?
(31) Wi it (§) e SAfee
(|) H e (3) Teshel
Teh Tt fraeg o Sise & A1 ‘m’ 1 A9 ST BT 8 7
() m=d (d) m=1.54d
(@) m=3d (3) m=t
T ¥ et O 9 geud: s g ?
(31) B ITFH 1 (§) HIEes Wid 1
(&) e (7) HELH
TR Z=Aire o forw 3 & o €t < 37ere SR ot et B 7
(37) TR St (%) Thet g
(@) Higeh Tt (3) oh.wa sy, =@l
2



68

IV' CAREERINDIA

Answer the following Multiple Choice Questions. Print the correct choice on your
drawing sheet.

@)

(i)

(iii)

(iv)

v)

@)
(ii)

(iii)

@)

(ii)

(iii)

What is the included angle of a hexagon ?

(a) 30° (b)y 60°

(c) 45° (d) 15°

Which joint is used to join two square shaft ?

(a) Flange coupling (b) Knuckle joint

(c) Cotter joint (d) Turnbuckle

What is the value of margin ‘m’ in a single riveted lap joint ?

() m=d (b)y m=15d

(c) m=3d (d m=t

In bushed bearing the bush is generally made up with ?

(a) Cast Iron (b) Mild Steel

(c) Brass (d) Copper

Which thread is usually used for power transmission among these ?
(a) Square thread (b) Knuckle thread

(c) Metric thread (d) BSW thread
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Construct an isometric scale of 50 mm length.

A Frustum of a hexagonal pyramid (shorter base side 30 mm, longer base side
60 mm and height 80 mm) is resting on its longer base side on HP. Its two base
sides are perpendicular to VP. Draw its isometric projection and give all
dimensions. Indicate the direction of viewing.

A right circular cone (diameter 50 mm and height 70 mm) resting centrally and
vertically on the top of a cube of side 80 mm. The common axis are
perpendicular to HP. Draw the isometric projection of the combination of solids.
Show the common axis and indicate the direction of viewing. Give all
dimensions.
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Draw to scale 1:1 the standard profile of a Knuckle Thread External. Take
enlarged pitch 40 mm. Give standard dimensions.

OR

Draw to scale 1:1 the front view and top view of a plain washer for a bolt of 20
mm diameter. Keep circular face of the washer parallel to V.P. Give standard

dimensions.

Sketch free hand the front view and side view of a Plain stud with diameter

20 mm. Keep the axis parallel to V.P. Give standard dimensions.
OR

Sketch free hand the front view and top view of a Snap head rivet of diameter

30 mm. Give standard dimensions.
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Figure 1 shows the details of the parts of a Flanged pipe joint. Assemble these parts

correctly and then draw to scale 1 : 1 its following view.
(i)  Front view, upper half in section.
(i) Side view looking from right.

Print the title and the scale used. Draw the projection symbol. Give 6 important

dimensions.
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Figure 2 shows the assembly of a Gib and Cotter Joint. Disassemble the parts
correctly and draw its following views of the following parts to scale 1 : 1. Keep the

same position of both Fork and Gib with respect to H.P and V.P.
(i) Fork:

(a) Front view lower half in section

(b) Top view
(i) Gib:

(a) Front view

(b) Top view

Print the title of both and scale used. Draw the projection symbol. Give 6 important

dimensions.
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FRONT VIEW FULL IN SECTION
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GIB AND COTTER JOINT

NOTE : FIGURE NOT TO SCALE USE GIVEN DIMENSION FOR SOLUTION

TAKE ALL ROUNDS R5

-2/ Fig.-2
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